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WORKSHEET 2
GRADE:4
SUBJECT: MATHEMATICS

CHOOSE THE CORRECT ANSWER:
1. 6 thousands less than 29,485 is
(23485, 25485, 24485, 26485)
2. By how much is 98725 greater than 28725?
(70000, 60000, 80000, 90000)
3. Which is the only number having only one factor?
(0, 1, 2, 3)
4. The largest common factor is called
(LCM, HCF, TCL, None of these)
5. x 167 =167
(0, 1, 167, 2)
SOLVE:
6. Find the factor pairs of 18 by forming rectangles or squares:

7. Find the HCF of 16 & 64 using common division method.

8. Find the least length of a rope which can be cut into whole number of pieces of lengths 45
cm, 75 cm and 81 cm.

9. State True/False: The LCM is the lowest common factor of the number.
1. true

2. false




10. Two gallons contain 20L & 36L of petrol. Find the maximum capacity of a container which
can measure the petrol of both gallons, so that no petrol is left in either gallon.
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